
 
 
 
 
 
 

ANSWER KEY: (560 PDS) 
 
1. A – 4 years 
 
2. A – steep mandibular plane 
 
3. D – fixed appliance with cinched archwire 
 
4. B – mandibular deficiency 
 
5. C – morphodifferentiation 
 
6. B – early calcification of some affected permanent molars has been noted 
 
7. C – multiple ankylosed teeth occur less frequently than single ankylosed 

teeth 
 
8. B – natal teeth occur three times as frequently as neonatal teeth 
 
9. B – topical reduction of enamel demineralization 
 
10. A – mesial step relationship 

 
 
 
 
 
 


